EARAROBEEIERT — 2 N— IBISH —F

20155128290 (K) 16EIA#H2H

m"fﬁ%Zﬁ 103AL140AKE ‘ [Xfg] B ‘ [EmE] — | ¥ (&) 12000 B
[A&4£] 1 7% :1,700,000 @ 2 3 :595,000 @ 33 :340,000  ~ 4 3#&:255,000 @ 5 7 :170,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
42 | HEARRE 1:15.0 7-7 38.6| — 8 415 | WAZ (faks)
1 > PGS 54.0 =) (o |TERE
A=Y x4 B:T7Trx>T = %
- s 2 | )3 1:15.3 8-9 38.6| — 1 458 | #AEZ (KH)
21719 NZ=—LA 54.0 (1 3/4) (-4) hftEE
Y LFA4N—F B:IZANLRZL Hoo—t>
5 _K 42 | HEE 1:15.5 -1 | 38.2| — 5 497 | KEZEM (KH)
3lgl11| FEF>TA40-FK 55.0 (3/4) w7 | R AEHER
L:77ZAVIT7 B:xaHrI—-Tvr LS
> = 4 o2 | EREA 1:15.5 12-12 |37.9| — 3 455 | EEF2 (IHE)
4]8|12( YT RT A2 8.0 e (o | FHB
RiO-YXf A4 B:ALEPRE/D NIVEY NT 7 — L
S . B 2 | HBEXEH 1:15.6 1-1 0.1 — 7 436 | EBRZAL (fRfE)
5 4 KZlb—O—X 54.0 76 o i Gl
¥k vv¥/xtx BYrUa— HE KR
: —:\ B 2 | RERZ 1:15.7 2-3 4.0 — 6 4 | BEEZ (KH)
6l5l5|T—IT>TA 54.0 (1/2) 45 |M-Kenichik—l7q>7 (
RL:d—IK7Y2—J)b B:=3y3Y pailz:be )
RN FHEE : = - EHET (KH)
" - BEPES R Ry [ M O 5 e
LAY —hR—o B:X¥—b(IvY iAErae]
5 Sy 4t 2 | PEFIM 1:15.8 4-6 39.9| — 1| 408 | =iREkiE (\HR)
gl7l10|FT>>¥—773Y 54.0 7€) (- |BOE
RBALINT Ry TR B —KNA INEET 7 — L
3 g < Ho2 | FHTR 1:15.9 6-5 39.8| — 2 438 | BRE (K3H#)
9156 =T LA KR— 54.0 ZE) o) (®) 77> s
LAY — bE—1 BiFFUERSY 75 Mg
— = 4 2 | HTHESR 1:15.9 5-4 39.9| — 4 424 | SIGEE (KH)
wlil1larsrvz-5 54.0 ) ey | FiEE
L:x+Trrbhw—L B:F7€-7 Yriva LB
N Ai5EL : - - AR (KH)
1 3| VaA=J1rvHh=2 # o2 | B 1.(1‘8.7 9-8 | 40.0 9 zg;s L
L:FaT 4 BUa—ix—=7I Ya—-77—L
s ft 2 | SEEK 1:17.4 9-10 40.7| - 12 | 470 |EEBEX (KH)
12 g| 7T1LI>Y I 54.0 (3 1/2) (+13) | BB
RivARNTYT B T4 T R4S
® I —F—EBIERL
13—7—
23—7F—
30—+— |[4,5,7,10,1,6,2,9,(3,8),11,12
41 —F— 4,7,5,1,6,10,2,3,9,8,11,12
[ RN
B OB 2 2,410 714K 2-9 1,410 e & 2-7 3,770M &R 2-9-11 6,950
8 B 2 440M 2-11 2,060 P B 2-7 12,200M JEH 2-9-11 83,230
9 200 9-11 480M B & 2-9 5,090
1" 2101 B H 2-9 12,190M

ABICOVWTRDTEEERROODE. TR LIV,




